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Ques # :1

the dimensional formula for impulse is -
1) ML*T™1

2) MI*T~2

3) ML°T ¢

4) MLT—?

smaer & foe T w7 8 -
1) MI2T1

2) MI2T-?

3) MLOT2

4 MLT 1

Ques # :2

two unit vectors are inclined at an angle, so that their resultant is also a unit vector. the angle is -
1) 30°

2) 60°

3)120°

4) 150°

& Tahie WG U HIT W 58 TSR 3 ¢ & 3oTaT TRONHAT Ffeer off v vl afeer g | ag iore -
1) 30°

2) 60°

3)120°

4) 150°

Ques # :3
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The speed time graph of a particle moving along a fixed direction is shown as—
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The distance traversed by the particle between 0 to 10 sec is—

1) 120 m
2) 60 m
3) 30 m
4) 20 m
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HUT & 2arT 0 & 10 Vs & & aa & 718 g0 & -

1) 120 m
2) 60 m
3) 30m
4) 20 m
Ques # :4

two masses of 1g and 9g are moving with equal Kinetic energy. the ratio of the magnitudes of their
respective linear momenta is -

) 1:3
2) 3:1



3) 1:9
4) 9:1

1g  9g & &Y TSHAT FATS Jfaret Foit A Irferelier § | 3o Harer Y& HA9T & TRATOT 7 o791 § -
) 1:3
2)3:1
3) 1:9
4) 9:1

Ques # :5

Achild is standing at the centre of turntable with his arms stretched then table is rotating about

its central axis with angular speed w, . Now the child fold his arms then moment of Inertia of

1
child becomes 3 of its initial value. Then angular speed of turntable will be :

1) 3 wy
2) 1
3
3) 6 wy
4) 1
6“°

U GHA dTell A Ul Fegid el & HYaT w, HONT 397 § 97 @ g, dd
Teh SISl el g BT A & hg W WS g | 3 AZH I9el dig AIS
AT ¥ R 5% @ Sfscd U, URTENE A H - @ Sar 8] 31 gEe
arell AT T IV 97 g -

1) 3 wy
2) 1

3 W
3) 6 wy
4) 1

6 “°
Ques # :6

the moment of inertia of a thin uniform circular disc about one of its diameter is i . the moment of
inertia about an axis perpendicular to the circular surface and passing through its centre is -

D 21
2) 21



3) 1
)—!

2
4 1
2

I

=

TS THHHTA God 1 Tl T 3T AT F AII&T T5cd YT i § | Jocl T ael F TFaad a4l Hg ¥
STTeY aTelY 3787 & WIYaT ST5cd Aot § -
Dvzr

2) 21

3) 1

) —1I
2

4) 1

V2

Ques # :7

the time period of an artificial satellite in a circular orbit of radius r is 4 days. if the time period of
another satellite in a circular orbit is 32 days then its radius of orbit will be -

1) 32t
2) 16t
3) 8t
4y 4r

U A 397 1 r BT & JeaTrR F67F 7 3raciTer 4 Rt ) A v @Y 379E F1 gecha Faw

# 3radiepTer 32 T & aY FaTw ST BT gt -
1) 32r
2) 167t
3) 8r
4) 4r

Ques # :8

The weights of an object in a coal mine, at sea level and at the top of mountain are wy, w; and

ws respectively, then :

1) Wy < Wz < W;
2) Wa > Wy > W
3) Wq < W3 > W3

4) Wy = Wy = W;



ush AUs &1 Tdh FHIge $Hi @eld A, THE dol 9K 3R 9gIS HI =@ W AR AT wy,

W Bﬂ_{w;% , Od -

1) Wy < Wy < W
2) Wo > Wy > W
3) Wy < Wy > W
4) Wy = W3 = W;
Ques # :9

if the metal bob of a simple pendulum is replaced by a wooden bob, then -
1) its time period increases

2) its time period decreases

3) its time period remains the same

4) pendulum does not oscillate

I TF T AAF & U F MNF P, dH3 & ANad § Ffaedia # fear I, ar -
1) 3ge1 sadeTar dear & |

2) 3HHT HTadhIeT TedT 8|

3) 3T TSI TgeT & FHTT & 8|

4) Sroten Srelel A& LT |

Ques #:10

two wires of same material and length but cross sectional area in the ratio 1:2 are used to suspend
the same load. the extensions in them will be in the ratio -

1) 1:2
2) 2:1
3) 4:1
4) 14

&Y AR FHTaY S aTga T AT § 3R T & Igre & a9 ¥ T 3T 3Ty FIC AR 12 F
ITITT 7 8, T 0 Y A & [T TFF 81t 8] FoTeht aarsal 7 RAEar 57 rqara & grem -
1) 1:2
2) 2:1
3) 4:1
4) 1:4

Ques #:11



The radius of a soap bubble is . The surface tension of soap solution is T. Keeping
temperature constant, the radius of the soap bubble is doubled, the energy necessary

for this will be -

1) 8wreT
2) 12nr? T
3) 16w T
4) 24wt T

Teh |G & gerdel I Hodl » 8] G & =@ & 56 dad T ] argAsT T
A W@ §U, T & gorgel a1 BH=ar g &1 A §] 6% [0 3aRdsh S

]

gl -
1) 8Sur’T
2) 12w T
3) 16mr:T
4) 24mr: T
Ques # :12

terminal velocity of a falling sphere in a liquid is v . if the radius of sphere is doubled then sphere
will fall with a terminal velocity -

1) 1
-V
4

2) 1
-V
2

3) 2v
4 4y

U g # P gu e & forw sifas dar v §) 9 7 i B gape 1 S at aite e sifas o

I e -
1) 1
-V

Ques # :13



water is flowing through a horizontal pipe of non - uniform cross section. at the extreme narrow
portion of the pipe, the water will have :

1) maximum pressure and least speed.
2) least pressure and maximum speed.
3) both pressure and speed maximum.
4) both pressure and speed least.

UF HAATT I FIE F Afrsr 939 ¥ 91t qarfea &) 161 8] 187 & wad T #4191 & faw, arft &
forw g -

D) sifreras g 3R wgrca# are

2) 7w e 3R st el

3) gt g 3K TTer 1Tt aH

4) gxat arer 3R TTe A

Ques # :14

a real gas behaves like an ideal gas if its -
1) both pressure and temperature are high
2) both pressure and temperature are low
3) pressure is high and temperature is low
4) pressure is low and temperature is high

arEafa® 34, 3reel 3 Y e cgaeR FAr 8, I -
D et g 3t ama ser ey

2) grat are 3R g e ||

3) g sea @Y iR A AT Y

4) are T @ iR AT ST Y

Ques # :15

The temperature of a substance increases by 27°C . On the Kelvin scale this increaseis -

1) 246k

2) 7k

3) 27k

%) 300 k

U 9GRf & a9 27°C d9¢ Sfial §| $feas A W g I5f¥ & -
1) 246 k

2) 7k



3) 27k
4) 300 k

Ques #:16

a quantity of heat q is supplied to a monoatomic ideal gas which expands at constant pressure. the
fraction of heat that goes into work done by the gas is -

1y 25
2) 35
3 23
4 1

U TTATITS 3Teet 3 Y 35AT g YaTe i 3Arelt § Y o TR grer v v gt &) sy Amn

S o 3 @ fF o e A Fareh § -
1) 2/5

2) 3/5

3) 273

4) 1

Ques #:17

A black body is maintained at 27°C and 927°C . The ratio of radiations emitted, will be -

1) 1:4
2) 1:16
3) 1:64
4) 1:256

Ueh HISUTH I 27°C AT 927°C W @I STl §| Scafaid Tafertoi &1 qard

BT -

1) 1:4
2) 1:16
3) 1:64
4) 1:256

Ques # :18



For the wave shown in the figure, if frequency is 150 Hz , then wavelength and velocity

are -
‘5" F'y
X (cm)
-+ 20 cm >

1) 0.04m,10mst
2) 0.06m,12ms"!
3) 0.08m,12ms"!
4) 0.08m,10ms~t

feErgaR a<er & fore afy 3ngfr 150 Hz g ar aioeed 3k &1 &-

AN

X {cm)

< 20 cm »
1) 0.04m,10ms™?
2) 0.06m,12ms™?
3) 0.08m,12ms™?
4) 0.08m,10 ms™?
Ques # :19

far point for myopic eye is S0 cm. the nature and power of corrective lens is -
1) concave, -2 d

2) concave, +2 d

3) convex, -2 d

4) convex, 0.5 d



e TS Q1w arelt 3@ & fore g¥ fig 50 em & | Hetvers oF Ay 3iv afea giah -
D) sraqer, 2 d
2)3aaa$r,+2d
3) 3eqe, -2 d
4) 3edel, 0.5d

Ques # :20

an air bubble under water shines bacause of the phenomenon of -
1) total internal reflection

2) dispersion

3) interference

4) diffraction

ett 3 g1 & e & THFN Y HTUROM -
1) qut 3reafes wrad

2) fagyqor

3) safaetor

1) faade

Ques # :21

a given charge situated at a distance r from an electric dipole on its axis experience a force f. if the
distance of the charge from the dipole is doubled, the force acting on the charge will be -

1) 4f
2) 8
3) 14
4 12

frege gfea & 3787 W r gfY IR U A £ e 7 3173 X ] IR gy gy F s Ay
1 T GITAT R ST Y HTAer IX HRIR ol g1 -

1) 4f

2) 118

3) /4

4) 12

Ques # :22



1
Two condensors of capacity C and " C are connected to a battery of V volt, as shown in figure-

+ c )
i — —
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Then the work done in charging fully both the condensors is
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Ques # :23



In the adjacent figure, the current flowing through 10} resistance is:

Q
40) 20
HA ;1D R
[
100) 50
5
1) 0a
2) 1/5a
3) 25/7 a
4) 7/25 a

Tolded T & 10 Uk ¥ vargd 9T grem .

a
4} 20
5A 10 R
<3
100 50
5
1) 0a
2) 1/5a
3) 25/7 a
4) 7/25 a
Ques # :24

if an electron enters in a magnetic field with its velocity pointing in the same direction as the
magnetic field, then -

1) the electron will turn to its right

2) the electron will turn to its left

3) the velocity of the electron will remain unchanged
4) the velocity of the electron will increase

uﬁwwwmﬁ,gﬁmmaﬁmnﬁﬂﬁmgmmrm%,m-
D) gorereier w2 o arfeety 3R 7p3am|

2) gl T3 & afS X A3

3) sorareleT &1 97 IaRafda W@

4) gorrglat &1 9T Fea|




Ques # :25

An Aeroplane is moving due north with a velocity of 400 km/h. The potential difference
in volt between the ends of its wings, distant 40 m from each other will be :

[ giverni- the earth's magnetic field intensity B = 0.36 = 107* Tesla]

1) 0.153 volt
2) 1.6 volt
3) 0.16 volt
4) 0.016 volt

Ud argA 3R FT 3R 400 km/h & 9@ & afcRlier &) sd 9@ & i v g @

40 m ¥ &, & &g fasraleer (dlee #) gl -
[ &= & g2dt & gradry a9 &1 digdr B = 0.36« 107 e |

1) 0.153 volt
2) 1.6 volt
3) 0.16 volt
4) 0.016 volt
Ques # :26

The power in AC circuitis given by : P = E,; [, COSQ

The value of power factor cosg in series LCR circuit at resonance is -

1) 0
2) 1
3) Evms * Lrms
4) (Erms* Irms)

V2

AC aitgyr & aifda & &0 &A1 T & P = Eppp Loy COSQ
Fogarg $r 3arer # Aot LCR 99y 7 ofFd 0 cosg FHT AT GHET-

1) 0
2) 1
3) Erms * Irms
4) (Erms* Irms)

\z

Ques # :27



a diffraction pattern is obtained using a beam of red light. if the red light is replaced by blue light
then:

1) bands disappear altogether

2) bands became broader and farther apart

3) diffraction bands narrower and crowded together
4) diffraction bands remains same

STel Tl & Yof & 39T § Fageler wforwa grea glar @) afe eirer wehmer &t wfter yeprer & aear I at

D) §5 qotew & e gt st |

2) §3 93 31k gxgT & s,

3) fgade &5 Geng 3R urg-arg g STRi|
4) e &5 uger & AT &)

Ques # :28

the mass of a moving photon is :
1) hv/c?

2) hv/c

3) hv

4) Zero

afaefier BN FT gegATT gHI:
1) hv/c?

2) hv/c

3) hv

4) zero

Ques # :29

In the nucleus of 1:Na®* the number of protons, neutrons and electrons are -

1) 11,12, 11
2) 11,12,0
3) 12, 11,0
4) 23,12, 11

11Na?? & ATfda # wiedl, F‘:Ij?r‘rsﬂlrﬁ‘:@?i’rﬁm%
1) 11,12, 11
2) 11,12,0
3) 12, 11,0



4) 23,12, 11

Ques # :30

a message signal of frequency 10 khz and peak voltage 10 volt is used to modulate a carrier wave of
frequency 1 mhz and peak voltage 20 volt, then modulation index will be -

1) 05
2) 2

3) 1072
4) 1U+3

10 khz 3gfea 3T 10 Aee @ Aeedr F dwaer Rverer FT 3941 1 mhz 3mgfea 31T 20 dtee frax

dleear I aEE a0 F ASIA & T BT ST 8| 99 ASIAT FAHE g1
1) 05

2) 2

3) 1072

4) 10+2

Ques #:31

a projectile following the usual parabolic trajectory explodes into fragments midway in air due to
internal forces. the centre of mass of the system-

1) follows the same parabolic trajectory
2) moves in the direction of fragments
3) moves with constant velocity

4) moves vertically downward

T Y&TC FTUROT TGl (e T T AT FI §U ATecliReh qeil & HIROT §aT A g1 ghsl A fasrsa
&Y SITdT 8| & T G AT hg-

D) 3¢ oRaeifaes waid a2 &7 31e8Ror e

2) ot &1 ferRm 3 31eTERoT e

3) &R g1 & 71fa Y|

4) zeafer o= i 3T afaeier g

Ques # :32

The maximum and minimum distance of a comet from the Sun are 2.6 X10¥ mand 5.2 X
10%? m respectively. When it is farthest to the Sun, its velocity is 4 X 10* ms~1, then its

velocity when nearest to the Sun will be:



1) 8Xx10°ms~?

2) 3.38X10% ms?!
3) 2X10°ms?
4) 4%X10*ms?

Uk JFHchq A A IUhan gl FgAaA g FAW 2.6 X107 HAex 3R
52X10%° Hiex §] 5 g G ¥ 3fAOFaH gl W § a9 STHT 9T 4X10° ms~?
¢l 99 I5 qF & geIaA gl W & dd Sl 397 AT -

1) gx10°ms?!

2) 3.38X 10 ms~?!
3) 2X10°ms?

4) 4X104ms?
Ques # :33

A box of mass 200 gm is attached to one end of a spring whose other end is fixed to a rigid
support. The ratio of Q when a mass of 800 gm is placed inside the box to the Q when empty

box is with the spring will be:

—— box
1) p)
2) Vs
3) 1/2

4) 145



200 A SeTATT &1 U didd Teh o & S[sT & forasr gann [T veh ©e 3mar &
SIST @] Sl & sflax 800 UTA EegAT (@ W Q &I, Wiell gl F&ar & 51 8f
dg Q ¥ 3e[9rd gem -

—

1) 2

2) V5
3) 1/2
4) 1/4/5
Ques # :34

in a driven harmonic oscillator power absorbed is maximum at the-
1) amplitude resonance

2) highest possible driving frequency

3) velocity resonance

4) frequency where the amplitude drops to 1/e of its maximum value

Tifard grAffa® affers & afea sraenwor srfwa ghen-

D) 31ramt 31efetre o)
2) srferererer HETA T e W
3) 49 357G W

%) 38 3mafed o= St AT HTAFAH AT FT 1/e T[T E AT |

Ques # :35

A transverse wave is represented by y = A sin(wt — kx), The value of wavelength for
which the wave velocity is equal to the maximum particle velocity will be:
1) A
2) 1
E?’[ﬂ
3) A



4) 21A

T WATAT ST y = Asin(wt — kx) ¥ IGId HT AT 5| ddeed F ag A
5o fow ader der, fasda o1 391 & W& BIaTT-

1) A

2) 1 y
S 1T

3) A

4) 21A

Ques # :36

for constructive interference -

1) The resultant intensity is equal to the sum of intensities of individual waves.

2) The crests of two waves or the troughs of two waves coincide.

3) The phase difference between two waves is an odd multiple of 7T .

4) The time interval between two waves is an even multiple of T.

Tareft safasor & faw -

1) aftomedr daar g aier i Naasit & 26 & avet g 3
2) gt aXal & A AT gt adn & T FIAT ol o

3) QeAt oA & FET HeR T HT YA I gIaT Bl

4) et AT F AT FHEAR T HT FA IO g Bl

Ques # :37

If the root mean square speed of an argon gas atom at temperature T is equal to the average
speed of a helium gas atom at —20 °C, then T will be :
Given:- atomic mass of Ar =399 u

Atomic mass of He= 4.0 u

1) 2141.3K
2) 2141.3 °C
3) 6729.8K

4) B6729.8 °C



gfe 3 3| & HOT T T 919 9X @@t AT Hel 9iel, gifeldH 3] $T -20 °C a9
W a9 & e} g an, arg T g

fear &:- Ar &1 WA gedAT = 39.9u
He T WTU; godHdld = 4.0u
1) 2141.3K
2) 2141.3 °C
3) 6729.8K
4) 6729.8 °C
Ques # :38

For mean free path A :

1) At constant temperature, A increases with increasing pressure.

2) At constant pressure, A decreases with increasing temperature.
3) Aincreases on decreasing the size of molecule.

4) A increases as the number of molecules increases.

AT JFd 90 A & T

D) feor a0 @, ged g & @ A gedr g
2) fBR g W, ¥6d dI9 & WU A "edr g
3) 3] T HHR TeaT W A gear §

4) 3T ST e g W A Fear g

Ques # :39

two coherent sources of equal intensity produce maximum intensity of 144 units at a point. if the
intensity of one of the source is reduced by 25% , then the intensity of light at the same point will
be:

1) 108 units
2) 90 units

3) 144 units
4) 121 units

&Y WA Aiar & wFag Ui O f8g W 144 571 A 3fFaH diaar seaeet # § AR v WA
ofterel 25% Ha T &Y S, A 34 Taig a7 waprer A clera g -

D 108 zrts

2) 90 ZHTS

3) 144 5TS

4)



121 SFH1S

Ques # :40

A boat at anchor is rocked by waves whose crests are 120 m apart and velocity is 20 ms™2 .

The boat bounces up once in every :

1) 1/6 sec
2) 3 sec
3) 6 sec
4) 1/3 sec

SR W UH A alet & ehdr & S 45 120m &F ¢ 3R @9 20 ms™t §] A@ gel

3Gedr b-

1) 1/6 sec H
2) 3 sec H
3) 6 sec H
4) 1/3 sec H
Ques # :41

as the isotopic mass of mercury decreases -
1) the critical temperature increases slightly.
2) the critical temperature decreases slightly.
3) critical temperature remains constant.

4) critical temperature decreases abruptly.

U FT FATLTAF TeATT gear g a -
D) ifdes ar ef-e soar ]

2) shifaeh ara ef-efY Tedr |

3) Fifdes a9 R war |

4) pifier AT UehTUeh TedT |

Ques # :42

a 250 gm stone is revolved at the end of 40 cm long string at the rate of 3 revolution/sec. if after 20
sec it is making 1/2 revolution/sec then the rate of change of angular momentum will be -

1) = 1072
2) m= 10%°



TF 40 cm FFdl S & U FAY T 250 gm HT T TeUT 3 TaFhd/Aehs Y G @ FARIT 1T 8] I 20
s & 918 I¢ 1/2 TFHVAHS AT g7 F GAT & A FIONT Fa97 & IRactar 1 g1 grefi-

Do+ 1072

2) = 10*2

Ques # :43

In a perfectly inelastic direct collision maximum transfer of energy takes place if -

ot O~ -
My mz

{m1+m2}

Before Collision After Collision
1) m; >> my
2) m, << m,
3) m; = My
4) m; =0

TUTHAT 3R TR eahe & AT 7 Afhmas geaiawer gem afe-

mj_ m2

(my+mg)

TR § 94 TFHL & A

1) my, >> m,



2) m, << m,

3) m; = My
4) m; = 0
Ques # :44

among the following homonuclear molecules, the paramagnetic molecule is -

DN,
2) R
3)) 0,
4 G

frafaf@ra aaenfaehrr 3ot & sregadhr 3ro7 8-

) N,

2) R

3) 0,
4 G
Ques # :45

10 g substance (molar mass= 50 ) is dissolved in 200 ml water and density of this solution was found
to be 1.05 g/ml and approx. molality of the solution is -

1) 1.05 molkg?
2) 1.0molkg™
3) 0.1 molkg?
4) 2.0molkg?

10 g TETY (OTR=50) T 200 ml 5er A Forerar a3 wreet freraer 7 weted 1.05 g/m1 91T 31T |
s TadaeT &Y AYereldT g1 ST -

1) 1.05 molkg™

2) 1.0 mol kg™

3) 0.1 molkg?

4) 2.0molkg™

Ques # :46

principle quantum number (n)
1) can have the values from 0 to oo.



2) determines the energy of the orbital to larger extent.
3) defines the three dimensional shape of the orbital.

4) givesthe Spatial orientation of the orbital with respect to standard
set of co-ordinate axis.

ﬁ@'mm(n)

D) &1 A= 0 & oo @I TehaT 8

%) % GaRT Rk ¥ Fofl TG GG P A G

3) T & BRART R F IRENG I Y

1) gHeaT 36T & TITd Fatehl & Tfad AfEfaearg & I &
SATRRT &l & |

Ques # :47

among the following substances the least viscous liquid is-
1) water

2) mercury

3) coal-tar

4) glycerol

i@ vt & & e wwar Ao ga § -
1) s

2) ATl

3) FreT-ar

4) Forerter

Ques # :48

Critical temperature of CO5is —

1) 5.3°C

2) 3098 °C

3) 126 °C

4) 35 °C

CO, =T Hifa a7 &-
1) 53°C

2) 3098 °C

3) 126 °C



4) 35 °C

Ques # :49

which one of the following is correct order of covalent character in the molecule :
1) MgCl, < NaCl < AlCl; < SnCl,
2) SnCly< AICl; < MgCl, < NaCl
3) NaCl< MgCl; < AlCl; < SnCl,
4) SnCl,< AlCl; < NaCl < MgCl,

frrafaf@a & & srop3t & TeaASTS T[0T FT WE FH FieTT 82
1) MgCl, < NaCl < AlCl; < Sncl,

2) SnCly< AlCl; < MgCl, < Nacl
3) NaCl< MgCl; < AICl; < SnCl,

4) SnCl,< AlCl; < NaCl < MgCl,

Ques # :50

The hybridisation state of central atom in H,0, SF; and PCl; molecules
respectively are :

1) sp?, sp*d? and spid
2) sp?, sp°d? and dsp?
3) sp’d?, sp® and sp?

4) spd, sp® and sp®d?

H,0 , SFs HITPCly U3 H o TATT] I HRIOT HTELT FAA ¢
1) sp?, sp3d? 31T spid

2) sp?, sp3d? 3T dsp?
3) sp3d?, sp® 3T sp?
4) spid , sp® 3T spid?
Ques # :51

The number of unpaired electrons in the complex ion [Co(NH3)]*" are -

1) Zero
2) one



3) two
4) three

"ol 3mae [Co(NH3)g*™ & safewa semrcia 1 dear § -

1) =T
2) TH
3) ar

4) G
Ques # :52

the hexadentate ligand is -

1) ethylene diaminetetraacetate
2) oxalate

3) ethane -1,2 - diamine

4) ammonia

Y& fAares ¢ -

D) vfrciesmtsme et
2) 3iferdtere

3) TA-1, 2-3TB0HT

4) rferar

Ques # :53

The correct IUPAC name of [CT(NH3 )5 (H50)5] clsis -

1) triamminetriaquachromium(iii) chloride
2) triamminetriaquachromium(ii) chloride
3) triaminotriaquochromium(iii) chloride
4) triaminotriaquochromium(ii) chloride

[Cr(NH3); (H,0)3] cl; & @@ IUPAC =11 & :-

) creurie crsuaarsn i@aHA(ii) FNss
2) CreuFHT CrEUFATHITETH(ii) FANSS
3) eI Cre v AT A i) FNSS

4)



CIS3THAT CIBUFAhITAIH(ii) FARISS

Ques # :54

atomic number of an element is 31. atomic number of elements just above it and just below it in its
group are :-

1) 30,32 respectively
2) 13,49 respectively
3) 23, 49 respectively
4) 21,41 respectively

U dcd T AT HATH 31 ¢ 39 & 331 7 37F fsreawn 3 3R A1 e ara deal & 9]
mm:-

D) saper: 30, 32

2) T 13, 49

3) gaer: 23, 49

4) aer: 21, 41

Ques # :55

which pair of atomic number represents s-block elements:-
1) 7,19

2) 22,55

3) 12,15

4) 19,56

fovet 3 & e GRAT] FATF FIA s-sallF & dcdl B GATAT S :-
1) 7,19
2) 22,55
3) 12,15
4) 19,56

Ques # :56

a solution with ph=3 is more acidic than a solution with ph=6 by a factor of :-
1

) 2
2) 3

3) 1x10°3
4)



0.5

U faeraet ph=3 3+ e ph=6 & A=afafla aon= garr srftw swaa e -
Do,

2) 3

3) 1x103

Y 0.5

Ques # :57

the endothermic process is :-
DF+e —— F
2) _
cl+e —— ¢l
V04+e ——— 0O

4)

0C+e — 0%

SSHTAS THA & ;-
DF+e —— F
2) _

cl+e —— ¢l
0+e ——» 0"
4)

0" +e — 0%

Ques # :58

The oxidation number of Fein [Fe(CN),]*~ ,[Fe(CN) ]*~, [Fe(SCN)]** and
[Fe(H,0);]*" respectively would be :-

1) +3, +2, +3 and +3
2) +3, +3, +3 and +3
3) +2, +2, +2 and +2

4) +3, +2, +2 and +2



[Fe(CN) 13~ , [Fe(CN) 1*~, [Fe(SCN)]?* 31X [Fe(H,0) 3+  Fe &I
JTerdTeRIoT GEAT HA: gE -

1) +3, 42, +3 3 +3
2) +3, 43, +3 3 +3
3) +2,+2, +2 3R +2
4) +3, +2, +2 3R +2
Ques # :59

which one of the following is the ore of zinc:-
1) calamine

2) kaolinite

3) malachite

4) bauxite

AR A I SF F 3T ¢ -
1) ermarssT

2) Fafase

3) Adrerse

e

Ques # :60

H; PO, is known as:-
1) pyrophosphorous acid
2) hypophosphoric acid
3) orthophosphoric acid
4) pyrophosphoric acid

H,PO, I Fgd & -
1) aRRY BrEnRd 3
2) gTSUIthIEhING 31Fel
3) smeifepremiies 3rFer
4) qRRIBIERINE 31FeT



Ques # :61

The lUPAC Name of
CH,

|
HECﬁCH—CHE is

1) 1-isopropyl-3-methylcyclopentane
2) 1-methyl-3-isopropylcyclopentane
3) 4-methyl-1-isopropylcyclopentane
4) 1-methyl-4-isopropylcyclopentane

CH,
|
S

&7 IUPAC &1 H & -

D 1 3msa e 3-Afe arsediueesT
2) 1-AR-3-3MeAN e ArsFeidee
3) 4- AT 1-3MSEN T FresFellieesT
1) | ATAT4-IMSAN T FTSeFelliesT

Ques # :62

which one of the following is meta directing group?
1) —NH,

3) _ocH,

Y —c.H,
frrafaf@a #F @ wlaar Ao i g s 2
1) —NH,

2) —S0,H

3) _0CH,

Y _Cz Ha



Ques # :63

Aldehydes having at least one &- hydrogen undergoes a reaction in the presence

of dilute alkali as catalyst to form [5- hydroxyaldehydes. The reaction is known as

1) aldo condensation

2) cannizaro reaction
3) decarboxylation
4) hell-volhard zelinsky reaction

tfesess oFd #0757 & «-gEsea Rega= g 8, 9 9 &R
F IR Fr TS 7 3R @R p-arEser- eseEE ye F
g | s AT & oA -

1)) Ueale ggelad
2)  FAERY HAfARRAT
SV € COEIIERSCxa)

1) Eo-arees afaead afAtHar

Ques # :64

the basic strength of alkylamines in the aqueous state is in the order of :-
1
) NH; > C,H-NH, > (C,H;),N = (C,H;),NH
2) (C,H),NH = (C,H;);N = C,H-NH, > NH,

3 (C,H5)yN = (C,H;),NH > C,H;NH, > NH,

4
) NH, > C,H.NH, > (C,H,),NH > (C,H.),N

STelRT 3raTYT F viedhd i1 & &TRAIT TTaed T S g1 :-
V' NH, > C,H.NH, > (C,H.),N > (C,H.),NH

) (C,H.),NH > (C,H.);N > C,H.NH, > NH,

%) (€,H.);N > (C,Hs),NH > C,HNH, > NH,

4
) NH, > CH.NH, > (C,Hy),NH > (CoHy) 4N



Ques # :65

grignard reagents add to the carbonyl group of ketones to form :-
1) methanol

2) primary alcohol

3) secondary alcohol

4) tertiary alcohol

MR 3fRwaAw 1 Al F Falford FHg W AT AT -
D) adater

2) Grfie Toehigicl

3) gfadas Tewlglel

4) I Tehigiol

Ques # :66

synthetic rubber neoprene is the polymer of :-
1) isoprene

2) chloroprene

3) caprolactum

4) acrylonitrile

AT X A3 =faf@a Fragas ¢ :-
D) srsasier ”

2) FelRIsieT

3) ForereeH

4) AfFeaTeEe

Ques # :67

bakelite is a condensation polymer of :-

1
) C¢H-OH and Caprolactum

Melamine and HCHO

3) HCHO and phthalic acid

Y €.H.OHand HCHO



mﬁmﬁﬁamwﬁma@m%:-
D' ¢ H.0H 3lv $dlrer

2
) HetHaT 3T HCHO

3
) Hero v dfoF srFer
Y C.H.0H #}T HCHO

Ques # :68

which of the following amino acid connot be made by human body ?
1) glycine

2) alanine

3) tryptophan

4) proline

frfafad & @ siqar ¥ 3 AT T A FeaRa adiaard -
D) semsdie

2) tenfaeT

3) Freerha

4) gyl

Ques # :69

calcium carbide on treatment with water yields:-
1) ethene

2) ethyne

3) ethane

4) methane

ST W f3haT e Hicaad FaTss Ia1aT # -
l)ggﬁ;r

2) gumsat

3) 597

4) e

Ques # :70



Match the following list

List1 List 2
(i)antiseptic (a) AI(OH ),
(i) antacid (b)Kills microorganism
(iii) tranguilizer (c) morphine
(iv)analgesics (d)Chlordiazepoxide

Correctcode is :-
1) (i) (i) (i) (iv)cbd a
2) (i) (i) (i) (iv) bad c
3) (i) (i) (i) (iv)dcba
4) (i) (i) (iii) (iv)cd ab

e gy &1 HeeT B -

T 1
(i) gfeRred
(i) wfc-31Fer
IREIGED
(iv) drETgRr
HEr FIs F -

1) (i) (ii) (iii) (iv)cbd a
2) (i) (ii) (iii) (iv) bad c
3) (i) (ii) (iii) (iv)d c b a
4) (i) (ii) (iii) (iv) cd a b

Ques # :71

the gold numbers of some protective colloids are given. which one of these is most protective ?

1) gelatin(0.005-0.01)

2) haemoglobin(0.03-0.07)
3) potato starch(25)

4) gum arabic(0.15-0.25)

2
(a) AL(OH),
(b)ges Srar &1 faamr
(c) ATHIT
(d) FARSSAITFHTES




Fo &l Frorssi ¥ Faviies R e § | 5o & waifes wh saard 2
1) fSrafes1(0.005-0.01)
2) fRATATS=1(0.03-0.07)

3) 3o FVT (25)
4) St a1 9115 (0.15-0.25)

Ques # :72

which of the following is not necessary for photochemical smog formation ?
1
) NO,

2) hydrocarbons
3) sunlight

Y 50,

frafaf@a 7 @ wlaar ywmer turafas qa-Fet & o sraeas a8 e ?
D No,

2) gTSghIdT
3) gAgeTer
4 30,

Ques # :73

which of the following nitrogen oxides would not contribute to acidification of rain water ?

D" no

2)
N, O

3
) No,

Y N,0s

i@ & ¥ T A1ESa ATFa1Es FT a9 ST F JFIHIOT H JRE AGT ¢ 2
1)
NO

2)
N, O
3)



NO,
Y N, 0

Ques # :74

The molar conductivities of AgNO5, Kcl and KNOQO; atinifinite dilution are:
A'm (AgNO;) = 133.4, A'm (Kcl) = 1499, A'm (KNO;) = 1449,

The molar conductivity of Agcl at infinite dilution will be-

D 128.407 cm? mol™?
2)

161.4 Q"1 em? mol ™1
3)

1384071 em? mol™?
4)

4282 07 em? mol™?

AgNO;, Kcl 3R KNO; 1 3a=a T W HeR Inershart
AN'm (AgNO;) = 1334, A'm (Kcl) = 149.9, A'm (KNO;) = 144.9,
Agcl T 3eled Tdl W AR HTelehdl grom-

1
) 128.4 071 cm? mol™?
2)
161.4 Q™1 em? mol™?
3)
1384071 cm? mol™?
4 428.2 07t em? mol™?
Ques # :75

in the daniel cell, anode is:-
1) copper electrode

2) zinc electrode

3) silver-silver chloride



4) calomel electrode

?ﬂﬂ"\qﬂ'ﬁ'ﬂ?ﬂ?%:-

D) iR gderels

2) f5ie solacrs

3) feay-Nea FelNISs

4) FelFre TorTeis

Ques # :76

gas which is generally used to provide an inert atmosphere in arc -welding is :-
1) helium
2) radon

3) krypton
4) argon

9 39 fraeT 39T 3TF AfesT & ArAIa: AFHT aTaTaror 3cued #3e F fav fFarsmare -
1) S

2) et

3) fepeart

4) 3ty

Ques # :77

the electronic configuration of the most electronegative element is :-

1
: 15225%2p*

2
) 1522522p%3523p>

3) 1522522p5
Y 1522522p6

FATOF fAga FOTCHFAT aTel TIATY] FT AT AP (Ao qTH ¢ :-
D 1522522p*

2
) 1522522p€3523p*s

3) 152252ps
4)



15225%2Pp°

Ques #:78

which of the following is a transuranic element ?
1) neptunium

2) protactinium

3) actinium

4) thorium

frfef@aa sl aw s aa
D aeeferar

2) grefFefaas

3) uigeiaTH

4) T

Ques #:79

select the element which is trace element in biological system.:-

1) ¢
2) ca
3) h
4) cu

g€ dea a0 o SAfaF o7 3 gaw AfAw aca 8-
1) ¢
2) ca
3) h
4) cu

Ques # :80

alcoholic solution of koh is used for :-
1) dehydrogenation

2) dehalogenation

3) dehydration

4) dehydrohalogenation

koh FT ¥epigial feret & fow ygaa §1ar ¢ :-



D) gregisfaeor

2) fageirstfaeor

3) farstelrayoT
RACHESIGICIDERS)

Ques # :81

The absorption maximum for the compound

| in ethanol is

—
D 273 my
2) 268 mu
3) 258 My
4) 278 Myt
|
—

TiPeF T TIAT A 3==dH HIANOT & -
D 273 My
2) 268 mu
3) 258 My
4 278 Myt
Ques # :82

the bathochromic shift in an absorption band occurs due to :-
1) decrease in wave length

2) increase in wavelength

3) increase in intensity

4) decrease in intensity

T JTAMVOT do5 7 quifcndl faedTaer ,, & FROTEATR :-
1) garéersy &1 geaTr



2) AR T Tl
3) Sfraar Fr dee
4) Sraar &1 gea

Ques # :83

the rate according to collision theory is given by :-
D) Rate =ze—Ea/RT
2) Rate =ZeEa/RT*

3) Rate =ZeEa/RT
4)
Rate ZZE_‘I‘“T‘“"rm"2

wuz i F AR Ao AT 1T -

1

) 377 =70 —Ea/RT
2) yar—zoEa/RT?
3) 337 =7 0Ea/RT

4) 397 =70 Ea/RT?

Ques # :84

in a reaction between a and b , the rate of reaction becomes double on doubling the concentration
of a and rate becomes four times on doubling the concentration of b . what is the order of reaction
with respecttoa and b ?

1) Oand 1
2) land?2
3) 2and 1
4) Oand?2

a 3 b & e Rielt RT3 2 Y Wiggell P I FoF I HTRFHAT A1 T QA @) Seh & T b
T FigrelT Y GIAT A I HATHAT Y a7 TR AT @Y Sl @ | 2 3R b & wesh & srfdfrar fr
T g1t 2

Dosiri

2) 132
3)



231
4032

Ques # :85

To Lower the freezing point of 1.0 kg water to —40°C, calculate the moles of Nacl
needed (K; = 1.86K kgmol™)

1) 10.75
2) 21.5
3) 59.5
4) 40.0

1.0kg 3TeT & Tge fag #F —40°C a9 3Fad7= & T Nacl & a0+
ATl AT HITSTTK; = 1.86K kgmol™)

1) 10.75
2) 21.5

3) 59.5

4) 40.0

Ques # :86

Which of the following alky! halide undergoes faster by SN reaction -

D Cl
NN

2) Cl

3) Cl
PV ANy

i@ # @ Fiaa oowe gorss & SN swfEfr Seara @dr g 2

D Cl
NN

2)



Cl

A

3) Cl
PV AN

Ques # :87

which of the following is not a product of recombinant dna technology ?
1) glo-fish

2) bt-cotton

3) flavr savr

4) dolly

frrafaf@a F @ i a1 goraferer wig@ifadr w1 scag 7dt 8 2
D) aar - fmer

2) S & wurg

3) FR AR

4) Stsy

Ques # :88

unicellular eukaryotes are included in which kingdom of whittaker's classification ?
1) monera

2) protista

3) fungi

4) all of these

U PR THRACH g F Feffaor & g sora A wfrafaa g 2
D #err

2) gifeer

3) Faw

Y g g s

Ques # :89

characteristics of the class chlorophyceae are-



1) presence of chlorophyll a, chlorophyll ¢ and stored food starch
2) presence of chlorophyll a , chlorophyll d and 2-8 flagella

3) presence of chlorophyll a, chlorophyll b and no flagella

4) presence of chlorophyll a , chlorophyll b and 2-8 flagella

FARIGTSH FF F T80T § -

1) Rt a, AR ¢ Ta AR Wrear T 1 3w
2) FARIRGT a, FRITPel d TF 2-8 FHATRGRY

3) FARITH a, FARITPe b TF FHATRHT T

4) FARIRBT a, FRITPeT b TF 2-8 FHATTRBRY

Ques # :90

consider the following statements and select the correct statements - a. dna replication is a semi-
conservative process b. dna replication is a semi-discontinuous process c. dna polymerase iii is
responsible for replacement of the primer sequence of the okazaki fragments d. primer is
synthesized on both the strands of the dna

1) only a
2)aandc
3)a,b,and d
4)a,b,cand d

i@ Fya W AR AT va ad F9a1 F1 999 AT a. 3t v © afagdinor 3 awed
ufShaT & b. 3t oot T ufasfaeor 3 sraad 9fhar 8 c. et @ust F IEaAs egFEAt &
YUY & T dna Wella iii SeaRar § d. IR, dna F Q1T Toof! W ARG @11

) raera

2) aldc

3)a,b,udd

4) a, b,ct’Ei'd

Ques # :91

monocot plant having secondary growth is

1) Yucea
2) Bamboo

3) Banana
4) Cycas



l)gﬁﬁr

2) amg
3) e
4) JrEIFHEH

Ques # :92

pulses belong to which family ?
1) liliaceae

2) poaceae

3) leguminosae

4) brassicaceae

arel fF e o @ weafeua €2
1) foreiresy

2) qrudr

5) aryfereh

) srfaener

Ques # :93

the stomata are closed -

1) when ph is more than 7

2) in the presence of auxin

3) in the presence of cytokinin
4) when ph is less than 7

TY TR -

D Seph 7 @ 3RS grar g

2) 3itferger iy sufeufa &

3) ArscreEiaeT i suTeyta
S ph 7 AFHABATE

Ques # :94

which of the following process does not happen during the light reaction of photosynthesis ?
1) photolysis of water
2) reduction of carbon -di-oxide



3) photophosphorylation
4) reduction of nadp

YT WRATOT Y Yoh1er AR TFAT & gher Reafaf@a A a sl @ ufFaradiaxdi g 2
1) ot & wremrer - 31qEesT

2) HTE-3TS-3TFATSS T T

3) preTHIERIR fareIoT

4) nadp &1 3T

Ques # :95

Match the following —

Column | Comumn I
A. C, cycle (1) Glycolysis
B. C; cycle (ii) Kreb’s cycle
C. C, cycle (iii) Calvin’s cycle
D. Common Respiratory Pathway (iv) Photorespiration
E. Citric acid cycle (v) Hatch and Slack cycle

) a(iv) biii) o(v) d() eii)
2)  a()b(v) (i) d(i) e(ii)
3)  a(iv) bii) c(v) d(i) e(ii)
4 a()bii) c(v) d(iv) eii)

ot 1 gt AT

HictH | HictH ||
A. C, T EGIEEIGIETES]
B. C; T (i) e T
C. C, g% (iii) FfeasT =%
D. gdfavs eager afigy | (iv) TeTRrRaEeT
E. e 30 Os (v)&d U9 Told g%

1) a(iv) bii) ¢(v) d(i) e(ii)
2)  a(v) b(iv) c(ii) d(i) e(iii)
3)  a(iv) bii) c(v) d() e(iii)
4y a(i) bii) c(v) d(iv) e(ii)



Ques # :96

seed treatment to enhance flowering in the plant is known as -
1) etiolation

2) vernalisation

3) redifferentiation

4) skotomorphogenesis

e # IueT # 3y ¥ i STAR Fr e § -
1) gz

2) qEcreRToT

3)?)?-&%%

4) qArEIaFE

Ques #:97

which of the following is non-proteinaceous biocatalyst ?
1) zymogen

2) abzyme

3) ribozyme

4) apo-enzyme

frafafaa & @ i a1 va 3mfeT Sta3ca= £ :-
D) srgArere

2) veatsH

3) g H

4) Tat-TesTeH

Ques # :98

guttation takes place through -
1) lenticels

2) hydathodes

3) pneumatophores

4) phellogen

foreg wTar frerd qEmT g @ -
D arereer
2)



STelleeT
3) FIAAHR
4) treltoter

Ques # :99

largest male gamete is found in -

1) Pinus
2) Cedrus
3) Cycas
4) Gnetum

Y T3T 7 FIAF AT ATAT ¢ -
D) geaa #

2 iz #

3) grgaa

Y) Hea 7

Ques # :100

only wild gymnosperm found in rajasthan is -
1) Ephedra

2) Cycas

3) Pinus

4) Welwitschia

TSTEYTe H 9T ATt AT Hael I HATgerd Il e § -
) sfbsr
2) grrFEg

3) gEaE
1) Fefafeaar

Ques # :101

mycoplasma differ from the other prokaryotes in -
1) presence of chitin in cell wall
2) presence of murein in cell wall

3) presence of proteins in cell wall



4) absence of cell wall

ATSHITATSAT, 3 NFRAST T AT & -
D) rfRrent ffeT & siges & sufeufa
2) s1frenr ffed & Fgfer &1 3ufeafa
3) fRrenT fafea & id= i 3ufeufa

4) fRre ffea & serafeafa

Ques # :102

lichens are the major pollution indicator of -
1) sulphur-di-oxide

2) nitrous oxide

3) suspended particulate matter

4) mercury

D) geme-arg-3itaarss
2) Argeq 3iirarss

3) frafRaa ol geret
) qrr

Ques # :103

the part of a healthy plant which should be used as explants to produce haploid plant is -
1) meristem

2) pollen grain

3) root tip

4) adventitious buds

UF TIEY GIGY FT FisT AT 1T IO YT YT FI & T Fafdsd F &7 & ggFd fFam e
aifiRe -

D) Rersaraes

2) qRaT SHoT

3) Fgermar

4) 3qeeriae Hicrr



Ques # :104

antibodies are -
1) glycolipid

2) glycoprotein

3) carbohydrate
4) nucleic acid

yfaveft e & -
D) sersRfafis
2) TATSHIAENT
3) Fwrefersge

4) sqfFeren 31

Ques #:105

iodine is essential for the synthesis of which hormone ?
1) adrenaline

2) insulin

3) thyroxine

4) testosterone

fra gl & Teavor & fow 3rade smaegs § 2
1) ufganforsT

?) seqfem

3) yreRiaresT

4) TERrET

Ques #:106

"megakaryocytes' present in bone marrow produce -
1) white blood corpuscles

2) red blood corpuscles

3) platelets

4) plasma

3Ty Ao A 39y " AgTFead HIART" IcUeed FIAT E -
1) o3 Tora w0
2) SATel Tercl STOTehT



3) fywamoy
1) carrsAT

Ques # :107

in earthworm the pair of ovaries are present in -
1) intersegmental septum of ninth and tenth segment
2) 11th and 12th segment

3) intersegmental septum of 10th and 11th segment
4) intersegmental septum of 12th and 13th segment

YT H HUSTAT FT I9A 3URAT AT 8 -

D) 514 vd cqd @ug & cr@uEy 9e )T

2) 7IREd Ud 9Rgd @ug #

3) eHd Ud TIRES @US & HRWUST 9¢ 1T
) IREd U4 AvEd WUS & IAIEUE 9¢ 9T

Ques #:108

during the formation of urine ' ultrafilteration ' takes place in -
1) bowman's capsule

2) proximal convulated tubule

3) distal convulated tubule

4) collecting tubule

1) derer - e ot

2) gHgey gafard AT 3
3) gz gafard sAferer #
4) gargur sforenr &

Ques # :109

oestrus cycle is not a feature of -
1) deer

2) monkey

3) dog

4) tiger



A g fhThT T8TOT AR § -
D et
2) §ex
3) qaret
4) gy

Ques #:110

the mineral which is essential for absorption and maintaining balance of body fluids is -
1) iron

2) calcuim

3) sodium

4) chlorine

@Gfarsr Y ITFATIOT T - T HJoleT TATC @A & T ITaRT+ ¢ -
D ot

2) $forraH

3) afsas

4) FrreT

Ques #:111

Exoskeleton of Periplaneta is made up of -
1)  calcium carbonate
2) cutin
3) chitin
4)  mucous

ORiTtaeT F1 Iig:FehTel ST T & -
D) &fermA wefae

2 e

3 e

K co

Ques # :112

the term " genetics' was given by -



1) mendel
2) morgan
3) bateson
4) boveri

"HITATRAI" ereg; fraa -
D fAvzar
2) Hide
3) Seae
4 S

Ques #:113

the correct sequence of cell stages during spermatogenesis is-

1) spermatogonia --> spermatocytes --> spermatids--> spermatozoa
2) spermatogonia --> spermatids -->spermatocytes --> spermatozoa
3) spermatocytes --> spermatogonia --> spermatids--> spermatozoa
4) spermatocytes --> spermatids-->spermatogonia --> spermatozoa

AT & QR PIRABT HATATIHT FT HEY ITHHA ¢ -

D) soferanf@ar - woaferage->ades- > Tuafaraism
2) ggsferanfa ->eqefes > Tyafarage- > Taafersam
3) Tuaferarse-->Tuaamfaar - e s> Tuefesiam

1) Teferarse --> Tefes->eaafeEn e > sasferatan

Ques #:114

pseudocoelom is present in-
1) platyhelminthes

2) aschelminthes

3) annelida

4) coelenterata

maTet AgareT 3TPUd gt & -
D) cafegfonfoaa #

2) tEhelfoAfeud

3 Wfas

4 fororeger o



Ques #:115

which cell organelle helps in the formation of acrosome ?
1) mitochondria

2) golgi complex

3) ribosomes

4) chloroplast

THIEA & AT 7 Flaar FIfRAwET deEs § 2
D argereifegar

2) Ticoly HIHACAFH

3) JrgaraH

4) gRceras

Ques #:116

scurvy disease is due to the deficiency of-
1) vitamin a
2) vitamin d
3) vitamin b
4) vitamin ¢

Thal Aor FFaFT FAT A AT -
D gerfaa a
2) fgerf@st d
3) ferf@eT b
4) erfad ¢

Ques # :117

father of phycology is -
1) f.e.fritsch

2) m.o.p. iyengar

3) m.s. randhawa

4) g.smith

o AT F IaTF ¢ -



D) v & Bhem

2) TAN . 3IRER
3) wH T HTEr

1) S femy

Ques #:118

which of the following is not a tracheophyta ?
1) angiosperm

2) gymnosperm

3) pteridophyta

4) bryophyta

farafaf@a & @ i ar fraeEer adi § 2
D) vfesrest

2) forrtreast

3) RErwrser

4) sTaiTseT

Ques #:119

in which of the following feature does the angiosperms resemble with the gymnosperms ?
1) presence of ovary

2) presence of ovule

3) ploidy of endosperm

4) double fertilisation

fmafaf@a & & fF aaor & vfesraesst, Seaert @ gaear @R € 2
1) syugrery &7 sufeufa

2) frairus dr 3ufeAfa

3) sgoTairs < agforar

4 rew YT

Ques # :120

cremocarp type of fruit is present in -
1) nutmeg
2) fennel



3) clove
4) mace

FAFTS TFR HT Hel SUTRTT TR -
D) Srader &

2) gfw

3) gifar &

D s F

Ques #:121

the formation of embryo from egg cell without fertilisation is called as -
1) parthenocarpy

2) parthenogenesis

3) polyembryony

4) xenia

3705 AT & FaT A% & 0T 7 ae1el1 FEATAT S -
D) sifederwere

2) sttt

3) o ST

4) Sirferar

Ques # :122

el nino happens because -

1) trade winds make the water cold

2) trade winds weakens which does not bring up cold water

3) trade winds strengthen which brings up warm ocean water

4) trade winds strengthen which does not bring up the cold water

T slelY 81T & FAfF -

1) egraiies qast SteT Y SusT A & &

2) graies 9del HHSIR 92 ST & ST SUST STl 9T AT ol &

3) SaraTRes TaeT S 81 ST § St 30T HAY STl &l FOX of STl &
4) caraTfies gaeT Saret 8 S § S 30T ALY el B SR AT &

Ques # :123



which one is not the exotic species in rajasthan ?

1)

2)

lantana camara

Prosopis cineraria
3) Parthenium hysterophorous

4) Eucalyptus globulus

TSTEdT # Fiad g snfaadi g 2
D Sl Tl FHENT

2 grafra AT

3) qreefiaas RESRIHT

Y gafargee seege

Ques # :124

Which of the following is an example of a €, plant?

1) wheat
2) maize
3) barley
4) oat

fr=fofad & & Slaar €, 96T F 36601 § ?
1) :ﬂ?

2) HIFFT
3)

St
4) ag
Ques # :125

"golden rice" is rich in -
1) vitamin a
2) vitamin d
3) vitamin k



4) vitamin b

"TMEST TH" AT L -
D fgeafaaa
2) ferfdet d
3) ferfdeT k
) Rerfd=T b

Ques # :126

which hormone is administered to a person suffering from a marked fall in blood pressure ?
1) insulin

2) adrenaline

3) thyroxine

4) vasopressin

& d 919 # Sea@dy PRrae § dfifed safea w1 i a1 gl e smarg 2
D gegferst

2) wsRaifoeT

3) AT

4) Farrde

Ques # :127

in cockroach , the organ of taste is -
1) epipharnyx only

2) hypopharynx only

3) palps and hypopharynx

4) palps and epipharynx

i H, TaTE F A -
D) &aer sifoerae

2) el TITEAT

3) Taeier Uq Ireiaraed
4) Tudies v AfRergst

Ques #:128



"crossing -over'" takes palce in -
1) pachytene
2) diplotene
3) diakinesis

4) leptotene

1)t 3
2) faeeiéleT &
3) sraTeRTETaE
1) Jr e 7

Ques # :129

if a population is in genetic equilibrium what will be the rate of evolution ?
1) zero

2) half

3) double

4) triple

X F1$ wATSE Ireqafe weg 7 ¢ O R 1 ax Fm gl 2
D) g

2) 3mefy

> 2t

Y faeh

Ques # :130

seminiferous tubules are separated by -
1) sertoli cells

2) interstitial cells

3) intercellular fluids

4) lining of the seminiferous tubules

QU SeTeh ATAHI HeTdT TEell & -
1) gefe s garr

2) 3{cRTeN SHITRYHT ZaRT

3) RPIRIPT gat garT



4) epsroteter AAfreRT3T & HTEAT g@RT

Ques # :131

out of the following which statement does not clearly states 'nature of science' :-
1) science is a process as well as the product of that process

2) in science there is much importance of store house of collected knowledge

3) scientific knowledge is universal

4) in science there is absolute possibilities of generalization of scientific conclusion

frrafaf@a & & slaar Fuer e 1 upfar ' F Tosear § vega 781 Far -
D) farsmrer wfehan & o arer & 39 9fshar 1 3cure o

2) a1t # Ueh e A % ${USR T gl Hgeed &

3) dwfaer it grdeifAes &

4) fartret 7 dmferes fovsensif & HTHEROT &Y quT HFHTEET §

Ques # :132

science cannot be developed without :-
1) history

2) political science

3) mathematics

4) home science

st sas foar farfaa 18t &) a&var:-
D gfogra

2) qretenfa emed

3) arfora

4) 7 farmret

Ques #:133

concept map ' cannot' be used for:-
1) planning a lesson

2) revising a lesson

3) summative assessment of a lesson
4) formative assessment of a lesson



HFHETT ATATAT TIF TET 1 Thell :-
DR DI CICGIGE:
2) 915 & SreeT H

3) qrs & ANcHF 3TheleT &

1) urs & AHOICHS 3ol &

Ques # :134

which one of the following statement is not related with guiding principles of ' national curriculum
framework 2005 ":

1) connecting knowledge to life outside the school
2) ensuring that learning is shifted away from rote methods.
3) making examinations more complex and difficult

4) enriching the curriculum to provide for overall development of children rather than remain textbook
centric.

fArff@d Fyat & @ Flaan, "TOT eIt FIET -2005 " F AR Rgiar § GeRT AE e -

D) 21t 1 faeamera & a6 & Sfaet & Sisr

2) 7z gfAfRad = &1 31feer et Hr qorel F Hed &

3) gieTT FY Sifee R Hid T

%) aTaTsHH I FTerh! & FaTAoT AT & forT HHg HET o Y JTeeh! P TSATETF Higd T1T
JYeT

Ques #:135

according to bloom's taxonomy of educational objectives the lowest level of cognitive domain is :-
1) analysis

2) evaluation

3) comprehension

4) knowledge

so[A & AMWF 3224l & Fafferaor F FTAR AATCHS TaT F1 AT T -
D) fareersor

2) A

3) qrer

) e



Ques # :136

lesson planning in science should be guided primarily by the consideration of:
1) meeting the needs of the average child in the class

2) satistying parents

3) the curricular goals and learning out comes

4) providing pupils with work

farirer # 9re AT AET W & e Raw @ RERa @ @i
1) a1 & 3iet aTeres Y 3R gft &

2) s R e ¥

3) IreasEH de T 31T gfate 8

4) Bt @l R T

Ques # :137

in the reply of the question a student presents his views in favour or against on issue with certain
logic and reach to conclusion . what do you call this type of question ?

1) explanatory question
2) discussion question
3) illustrative question
4) comparative question

T N & 3cd} # O 39« AR, Qv & qa7 3ryar favet & 6l aF F oy @arg a Fsay w
TEACT ¢ | 37T FH FhE THR T 9o Fgt ?

1) sarearcaes g

2) fa - el uee

3) geeia wee

4) JereTeHa uet

Ques # :138

creativity is usually associated with :
1) convergent thinking

2) divergent thinking

3) modelling

4) imitation

FAATcHSAT AT fh e & Fafera g :-



D sfarard Reds
2) 37T et
3) Hefoiar
Y g

Ques # :139

the word 'curriculum' is derived from:-
1) german language

2) dutch language

3) latin language

4) french language

'HREFYAA' Aeg T eI 8-
D s smwr @

Dzgaea

3 T T T

) ST o T O

Ques # :140

by which acivity students will acquire understanding through a systematic and direct study of the
biological and physical environment:-

1) science club

2) science fair

3) science laboratory
4) field trip

e o & o1 Sifaw 7 ifae TataRor & Jeaafeyd v Toget reaaer & WHsT IIed T g
D) a1t ot

2) =TT Aoy

3) =TT SrAeTRITeT

4) &7 AT

Ques #:141

what is the full form of c.c.e.
1) continuous and comprehensive examination



2) continuous and comprehensive evalution
3) continuous and competitive evaluation
4) continuous and complex examination

. HE. 7 ot wT FAT?

1) & var sarges glvem

2) Had vaH saTgeh Hodlehal
3) gad v gfaeft feaisst
4) Hare vaH sifeer adietm

Ques # :142

the last frame in linear programmed instruction is:-
1) practice frame

2) testing frame

3) teaching frame

4) introductory frame

Yair T s ¥ s e d
D s g

2) qfietor g

3) Rrgfor Ug

4) gEdTae ug

Ques # :143

example of projected teaching aid is :
1) overhead projector

2) charts

3) flannel board

4) bulletin board

v fRrator el F1 3ETEI0T §:
D 3w {3 woterex

2) o7&

3) FAT S

4) qafea s



Ques # :144

which one of the following is not a learner centered method?
1) project method

2) problem solving method

3) lecture method

4) laboratory method

fArafaf@a & ¥ siad) a1 Fiega R adi e -
D) graerer fafr

2) geEaT gATeT A

3) s ot

4) gareremer fafer

Ques # :145

a teacher prepares a specific objective in her lesson plan that " students will be able to classify
oxides on the basis of properties of solubility " specific objective is :

1) knowledge

2) understanding
3) analysis

4) synthesis

e AT 379+ uTe Aerer # v fafdrse 327 ward & ' fagadt sitFarssH @ geiieor 36
gereTefierar & o & TUR 9T FT Fohar" g7 faflrse 3227 ¢ -

D) ey

2) sier

3) fygarvor

4) Fieeror

Ques # :146

major out come of science club is :-

1) creative and organisational capability is developed
2) students get financial benefits

3) parents are benefitted

4) teachers get advantages

faraer Fora &1 T IROMTH B -



D) gotetresier T TaTsaTers aTadT faeh e g &
2) reteit 1 3172 amer o g &

3) AT RIdT & o YTee grar

4) fRreTert &Y o e &

Ques # :147

which one of the following characterstic is not related with scientific attitude:-
1) faith in superstitions

2) faith in cause and effect relationship

3) open -mindedness

4) spirit of curiosity

Rrfafee # & St ot Rrewar defores arfdgfar & Waftrar @i ® «-
D) sterfaearat o faeara

2) o7 -5Tg G H feary

3) SeRF=gfar

V) g gt

Ques # :148

the project method of teaching is best associated with the philosophy of :
1) roussou

2) spencer

3) dewey

4) froebel

fRravor Y g A fha gefer & walfts aafa @
D) ==t

2) geER

3) Y

4) weer

Ques # :149

out of the following which method of teaching science follows the thordike's law of learning ?
1) lecture method
2) lecture- demonstration method



3) project method
4) supervised study method

faraer frator it faearfaf@a F @ Fiad At Asisms & st s F1 e F A g -
D) sarearT fafer

2) carEare el fafer

3) girsreT Tt

1) gdafaa sreaaer A

Ques #:150

one of the important merits of the objective type test is :-
1) construction of test items is simple

2) teacher can assess the internal feelings of the student

3) linguistic problem of students can be identified

4) it 1s possible to cover entire content

TE TS Tl HT Tk GHE 0T :-

D) qveqor qet o1 Ao R &

2) 1re7e STAT &Y ITARE HIGT3iT T 3HTeholeT FT Thal &
3) wrEt T AR GAEATH A Ygdd b

4) Frot fawgaeg A Feem gera &






